>
N & 0 & AF &2 8 A A
20138 = S0l& LB H SEMNL L ~ sENL
PN sENL D
M (MBS NS0 EIBRE
&2 DIcHEsSHEOS MY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SEHL Dt 229,049,793 228,324,475 725,318
= 19,840,456
& 173,416,000
< 35,793,337
2ICHAE SN sHEII B = 227,947,456 227,197,356 750,100
= 19,840,456
& 173,416,000
< 34,691,000
OlcHE sHEMS Y 163,711,856 150,761,756 12,950, 100
= 89,456
& 143,111,000
< 20,511,400
SHEHOISEXEHE 9,911,000 5,054,400 4,856,600
= 7,624,000
< 2,287,000
403 UHXISHHSA=0l& 9,911,000 5,054,400 4,856,600
= 7,624,000
< 2,287,000
01 X ESHHMA=LE L 9,911,000 5,054,400 4,856,600
O=sHEHONSREH 9,911,000
& 7,624,000
< 2,287,000
OldiE=sHEOIS ML A 50,400 374,000 A 323,600
201 L4l 44,000 69,000 A 25,000
01 At 22l 39,000 59,000 220,000
Oger==&H| 34,000
OgEtsdoENEIRAHERE RS 4,000
O=ZIIBMEEE 30,000
O2ds¢ 5,000
OstHENLAMIAAMARZT ALY AIE 5,000
03 &ALl 5,000 10,000 A5,000
OsEXNINLEAMEATS 5,000
202 O4dl 6,400 5,000 1,400
01 = LH 4 Hi 6,400 5,000 1,400
O=Z02s8HLYRE0 6,400
HALANSZTEZH(sE) 53,785,000 53,181,000 604,000
& 47,658,000
< 6,127,000
403 MtXSHHS =0l & 53,785,000 53,181,000 604,000
& 47,658,000
< 6,127,000
01 XM A=2E X 53,785,000 53,181,000 604,000
OASHAISSEEH(5E) 53,785,000
& 47,658,000
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=R B E S ESIFIEE
e DIcHEsHE0IS M (2 &HH)
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SA BB (3H) - NRAY - B Ol At o %@i HRE2
| [ 6,127,000
AN STE I (LE) 295,000 1,064,900 769,900
2 261,000
& 34,000
403 XX SHHS K20 & 295,000 1,064,900 A 769,900
2 261,000
&< 34,000
01 AIXISHHMA=Z2E X 295,000 1,064,900 A 769,900
OJAAUADSESE AL (M) 295,000
2 261,000
o= 34,000
ACDISSE I (ZAZE) 2,034,000 1,976,000 58,000
2 1,675,000
= 359,000
403 XX SRS K 20| & 2,034,000 1,976,000 58,000
2 1,675,000
& 359,000
01 MXSHHE2E =X 2,034,000 1,976,000 58,000
OFAH2A0ISESSEHY (SAI2H) 2,034,000
2 1,675,000
& 359,000
HALLAOISSEMNE =X 7,000 6,000 1,000
202 o4 H] 7,000 6,000 1,000
01 2401l 7,000 6.000 1,000
OHSAA0ISSENL =X HI 7,000
SHATMXNESSZHH (s&) 71,292,000 40,588,000 30,704,000
2 63,170,000
& 8,122,000
403 XX SHHS K20 & 71,292,000 40,588,000 30,704,000
2 63,170,000
& 8,122,000
01 XIS A=Z2E X 71,292,000 40,588,000 30,704,000
OSHATHXNESSEY (s5) 71,292,000
2 63,170,000
o 8,122,000
SeAWXSS I (2ES) 2,888,000 3,780,000 892,000
2 2,420,000
= 468,000
403 XX SHHS K20| & 2,888,000 3,780,000 A 892,000
2 2,420,000
& 468,000
01 MXSHHXNEE X 2,888,000 3,780,000 A 892,000
OSHATMANESSEY(AES) 2,888,000
2 2,420,000
& 468,000
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SN EB S (3H) - NEAY - BES ofl &k o San HDE2

MR EZTHLYTWNL (M) 3,839,000 3,584,000 255,000
2 3,402,000
== 437,000

403 XX S S K201 A 3,839,000 3,584,000 255,000
2 3,402,000
= 437,000

01 MXSHHAEBE = 3,839,000 3,584,000 255,000
OdNROUSELSLTWNE (M) 3,839,000
= 3,402,000
& 437,000

SEMEEH A Y| 14,267,000 36,177,000 A 21,910,000
2 12,642,000
o= 1,625,000

403 XX S M S K201 A 14,267,000 36,177,000 A 21,910,000
2 12,642,000
& 1,625,000

01 XIS A2E X 14,267,000 36,177,000 A 21,910,000
Os=destd A3 14,267,000
2 12,642,000
== 1,625,000

SEMBEHATY(TARA) 1,585,000 2,066,000 481,000
2 1,404,000
= 181,000

403 XX S S K201 A 1,585,000 2,066,000 A 481,000
) 1,404,000
= 181,000

01 HXHNMAHESEE = 1,585,000 2,066,000 A 481,000
OsEMEst AT (ZTAIE2H) 1,585,000
2 1,404,000
& 181,000

I ZEME I TRIEYI (TIOR3 ) 70,000 70,000 0
2 70,000

403 XX S M S X201 A 70,000 70,000 0
2 70,000

01 MXHAMAHEBE = 70,000 70,000 0
OJIZ=MEolZet ™Y (OIS HE) 70,000
Fy 70,000

ZSMAAEN Z ALK& 89,456 89,456 0
= 89,456

202 044l 5,856 5,856 0
= 5,856

01 2LHOHI 5,856 5,856 0
OZLSMMAENZAE2FA 5,856
= 5,856
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&2 DIcHEsSHEOS MY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 XXM SO0l A 83,600 83,600 0
= 83,600
01 IXNHHBNEES 83,600 83,600 0
O=2SMAMEHZAZESEX XA 83,600
= 83,600
SRR A 2,609,000 2,451,000 158,000
2 2,485,000
< 124,000
403 X SHH S X =0l & 2,609,000 2,451,000 158,000
2 2,485,000
< 124,000
01 XXM 22 = 2,609,000 2,451,000 158,000
OFEX A 2,609,000
2 2,485,000
< 124,000
He=X=HI3dXYH 675,000 300,000 375,000
403 MHXSHHSA=0l& 675,000 300,000 375,000
01 HXESHMA=E X 675,000 300,000 375,000
OM=X+-HMHZAXTH 675,000
SMAFAMY 315,000 0 315,000
2 300,000
< 15,000
403 XIS E =0l & 315,000 0 315,000
& 300,000
= 15,000
01 XM A=2E X 315,000 0 315,000
O=sMdFAHY 315,000
& 300,000
< 15,000
HHESEESTSS 15,467,500 14,473,500 994,000
= 2,230,000
= 10,437,000
< 2,800,500
NES22HL(NH) 7,322,000 6,897,000 425,000
2 6,488,000
< 834,000
403 XHXI EH A S Xk 201 ® 7,322,000 6,897,000 425,000
2 6,488,000
< 834,000
01 X SHHX2E = 7,322,000 6,897,000 425,000
OXNEE2ZHY 7,322,000
& 6,488,000
< 834,000
StUHHI S =1 & 2,342,000 2,342,000 0




M SENLD
M 21CHNE=ERNsHED RS
©el: HNESESLTE (B9 ®R)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 2,230,000
< 112,000
403 MtXISHHE X201 & 2,342,000 2,342,000 0
= 2,230,000
< 112,000
01 XM A=2EE 2,342,000 2,342,000 0
et tidl s 2,342,000
= 2,230,000
< 112,000
SESsQMHEBE Y 2,436,000 3,249,000 A 813,000
& 2,159,000
= 277,000
403 A X EHHS 20l A 2,436,000 3,249,000 813,000
& 2,159,000
< 277,000
01 X HHMA=ZLE L 2,436,000 3,249,000 A 813,000
DsEsgdagssiiy 2,436,000
& 2,159,000
< 277,000
AAE2EFIHY 2,156,000 975,000 1,181,000
& 1,790,000
< 366,000
403 MtXSHHSA=0l& 2,156,000 975,000 1,181,000
& 1,790,000
< 366,000
01 X SHMA=2E X 2,156,000 975,000 1,181,000
OAREESME 2,156,000
& 1,790,000
< 366,000
StSltdlsgdEs== 1,200,000 1,000,000 200,000
403 XIS E X201 E 1,200,000 1,000,000 200,000
01 X SHHX2E = 1,200,000 1,000,000 200,000
OsitsilbdsgdEs=20H 1,200,000
HEsEESMLEFA 11,500 10,500 1,000
201 Let24d| 2,000 2,000 0
01 At 22/l 2,000 2,000 0
Ogst=2tl 2,000
OsZEEHLYRAHNENEFRAUS 2,000
202 (44l 9,500 8,500 1,000
01 S LHOIYI 9,500 8,500 1,000
OsZEE+HLLRFA0N 9,500
JlAstE s0|et et = 39,290,100 52,520, 100 A 13,230,000
= 17,521,000
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. _ = SfE|
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
. 19,868,000
= 1,901,100
HR=EBNFe 2,790,000 5,431,000 A2,641,000
2 2,595,000
& 195,000
403 XX SHHS K20 & 2,790,000 5,431,000 A2,641,000
2 2,595,000
& 195,000
01 XIS A Z2E X 2,790,000 5,431,000 A2,641,000
Ourezxse 2,790,000
= 2,595,000
= 195,000
Il H3tE &2 &L & 7,851,000 11,007,000 AN 3,156,000
2 6,957,000
=} 894,000
403 XX S M S K201 A 7,851,000 11,007,000 A3, 156,000
2 6,957,000
= 894,000
01 AIXISHHMA2E X 7,851,000 11,007,000 N 3,156,000
OJ|HstH &2 &L & 7,851,000
2 6,957,000
& 894,000
JHSBEZE LA (ZTAER) 451,000 1,806,000 A 1,355,000
2 400,000
& 51,000
403 RXISH S X =0 & 451,000 1,806,000 A1,355,000
2 400,000
& 51,000
01 XIS A2 X 451,000 1,806,000 A 1,355,000
COJIHSIE X2 T (S A2H) 451,000
2 400,000
o= 51,000
g BtE H| 10,660,000 13,760,000 A 3,100,000
2 9,916,000
& 744,000
403 XX SRS K 20| & 10,660,000 13,760,000 A 3,100,000
2 9,916,000
& 744,000
01 MXHHE2E =X 10,660,000 13,760,000 A 3,100,000
gD erA Y| 10,660,000
2 9,916,000
= 744,000
HH&=H&E (R E) 13,972,000 11,279,000 2,693,000
= 13,972,000
402 IZH R 0| A 13,972,000 11,279,000 2,693,000
= 13,972,000
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 QX2 X 13,972,000 11,279,000 2,693,000
B ES N EE-) 13,972,000
= 13,972,000
Hi =& (X)) 3,549,000 9,221,000 N5,672,000
= 3,549,000
403 XX SHHMS X201 A 3,549,000 9,221,000 N5,672,000
= 3,549,000
01 XS A2E X 3,549,000 9,221,000 N5,672,000
CIBH 4O &1 (K1 2) 3,549,000
= 3,549,000
JAHSEsIetEa s =X 17,100 16,100 1,000
201 Bt 2,000 2,000 0
01 AP 22| H| 2,000 2,000 0
OgetL&H| 2,000
OsgIIBt XL AHENEROS 2,000
202 04| 9,500 8,500 1,000
01 2L HI 9,500 8,500 1,000
OsglIBt X8 2=R0d| 9,500
203 € R F=&d| 5,000 5,000 0
03 AIEH =& 2 F X Y| 5,000 5,000 0
OsElgegdex=2a 5,000
303 ZA=2 600 600 0
01 Za32 600 600 0
OsgIIBXZHEAMNEFTRIRES2IAAIL 600
THoHCHHl £=2| Al & A b 9,478,000 9,442,000 36,000
Moot == 42| Al & & 7,000,000 7,000,000 0
403 XX SHH S X201 A 7,000,000 7,000,000 0
01 XS A=2E X 7,000,000 7,000,000 0
OXHoHME == 42| Al &2 X | 7,000,000
2™ LT A H| 225,000 202,000 23,000
403 XX SHHS K20 & 225,000 202,000 23,000
01 XIS A2E X 225,000 202,000 23,000
O2HFL AT HH| 225,000
CLEAE =X EH| 2,000,000 2,000,000 0
403 XX SHHS K20 & 2,000,000 2,000,000 0
01 XIS A2E X 2,000,000 2,000,000 0
O d=X3d| 2,000,000
N4 XIME A 241,000 229,000 12,000




FMN sENLD
=R B E S ESIFIEE
Sl THoHtHHl =2l Al b (&)
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
403 MtXISHHE =01 & 241,000 229,000 12,000
01 XM A=2E X 241,000 229,000 12,000
OX=XIMgEH 241,000
THoH CHEI ==l AIE B HI =& 12,000 11,000 1,000
201 Let2d] 3,000 3,000 0
01 At 22l 3,000 3,000 0
Opt=2Hl 1,000
OMolitidl=clAI € EHIAHETRES RS 1,000
[E=3=3:] 2,000
OMithHl bl &2 X5 Al 2,000
202 od4dl 9,000 8,000 1,000
01 = LH o4 1l 9,000 8,000 1,000
COMoitidl =l A4 EH G RFE I 9,000
HY 2RI (=&ML D) 50,337 47,119 3,218
el 2 21,137 19,119 2,018
ol 2| 21,137 19,119 2,018
101 124 dl 21,137 19,119 2,018
03 RIAHAZZ2TE = 21,137 19,119 2,018
=237 Mat2te| 21,137
OJles 40,8303 1 250 10,208
Oo&N= 10,290, 000% *1/12x400% 3,430
OFs=% 40,8303 x1H «52= 2,124
O xt==g 40,830 *1H x172 695
OunsE Xl 60,0002 «1H x 128 720
OZ 2 FItyl 600,000 1 »23] 1,200
O&FHZ A 130,000 x1&H 123 1,560
ONE=L(HRA) 40,0002 «1H « 122 480
ONE=E (JIEHE) 20,0003 «3H x12& 720
Jl23&dl 29,200 28,000 1,200
JlEzl 29,200 28,000 1,200
201 Let2d] 20,200 20,000 200
01 At 22l 20,200 20,000 200
Opt=2Hl 15,000
OV ZLEIIANHEFA=EES 1,500
OLEBMNEES AL X IIEI=SHI 5,000
O=sMuERFIRZFO 2,000
OAZd=E2HIS 6,500
E=3=3:] 5,200
OsENL I Z A 5,200




2AN: sEHg
HE: HY2IFH (SEHL D)
¢l =gl (chel & 9l)
(o
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
202 04| 9,000 8,000 1,000
01 2Ll 9,000 8,000 1,000
OsElegdR2 =804 9,000
MEES (=ML D) 1,052,000 1,080,000 A 28,000
SRS DNES 1,052,000 1,080,000 A 28,000
ZFCIAAEME S (06K H ML) 1,052,000 1,080,000 A 28,000
311 X 20| XHak &t 252,000 280,000 A 28,000
01 Al - EXYEIED |2 X 20| AHAHE 252,000 280,000 A 28,000
OZCIAEMES=('06REIHLDIZ) 252,000
601 X =& 24 & 800,000 800,000 0
01 Al - EXEHED | SXAU2 243 800,000 800,000 0
O4CelAIENE2=('06X ML 2) 800,000




